| Efficiency vs Dxy |
>0.05
X

5 : : : : : : :
B.045F 1 P preee proeee R
< : : : : : : :

R
o : : : ' : : :

D.035 ke e R A
s T T o e e

eff

0025
002

o
L ot e o St e
T e

.....................................................................

Ratio

50 S15 =10 =5 0 5 10 15 20
TP dxy (cm)

—=— DQM_origmal_stepZ_ttbar-phasel-newgeom
ffici —e— DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
| Efficiency vs Dz | —«— DOQM_pixelCPETemplateCutChiSquarel5_step2_ttbar-phasel-newgeom

0.2 —+— DQM_pixelCPETemplateCutChiSquare5_step2_ttbar-phasel-newgeom_test
N . ; T T T
> : : :

9 018t
> : : : :
0B
(&] - . . . H N
E0.14 proeneeee . By A
o : : : :
e
NS WY | R S SR N

008 oo

R

93020 <10 0 10 20 30
TP dz (cm)



	Contents
	Page 1


